阅读理解B

1、Throughout the colonial period there was a remarkable shortage of women, which varied with the regions and was always greatest in the frontier areas. This shortage enhanced （提高）women's status and position and allowed them to pursue different careers. The puritans （清教徒） regarded idleness as a sin （罪恶）, and believed that life in an underdevelopment country made it necessary that each member of the community performed an economic function. Thus work for women was not only approved but also was regarded as a civic （公民的） duty. Puritan town councils expected widows and independent women to be self-supporting. There was no social prohibition against married women working; on the contrary, wives were expected to help their husbands in their trade and won social approval for doing extra work in or out of the home. 

The vast majority of women worked within their homes, where their labor produced most articles needed for the family. The entire colonial production of cloth and clothing and partly that of shoes was in the hands of women. In addition to these occupations, women were found in many different kinds of employment. They were butchers, silversmiths and gunsmiths. They ran mills, plantations, shipyards, and every kind of shop. They were gatekeepers, jail keepers, journalists, printers, nurses, and teachers.

1）、What does the passage mainly discuss?
A.Colonial marriages.
B.The puritan religion.
C.Colonial women's employment.
D.Education in the colonies.
答案：C

2）、According to the passage, where in colonial North America were there the fewest women?
A.Puritan communities.
B.Seaports.
C.Frontier settlements.
D.Capital cities.
答案：C

3）、It can be inferred from the passage that the Puritans were ______.
A.uneducated
B.hardworking
C.generous
D.wealthy
答案：B

4）、According to the passage, Puritans believed that an unmarried adult woman should be ______.
A.financially responsible for herself
B.returned to England
C.supported by her family
D.trained to be a nurse
答案：A

5）、According to the passage, what did the Puritans expect from married women?
A.They should adopt needy children.
B.They should assist in their husbands' trade or business.
C.They should work only within their own homes.
D.They should be apprenticed.
答案：B

2、Though some people have suggested that women should return to housework in order to leave more jobs for men, the idea has been rejected by both women and men in public opinion polls. Lately some union officials have suggested that too many women are employed in type of work more suitable for men and that women should step aside to make way for unemployed young men. They argue that women - especially women in their childbearing years actually delay economic development and result in lower productivity, poor quality and inefficiency.

To solve the problem, they have suggested that the working women stay at home while their husbands or brothers were given double wages. They argue that under these circumstances, families would retain their same level of income, and women could run the house and raise children much better.

The suggestion has been rejected by 9 out of 10 people polled. A hundred persons in a big city were questioned last summer. Out of 50 women, 46 said they were unwilling to leave their jobs, no matter what the situation was. The other 4 said they would like to return home if their jobs could be taken by their sons or daughters. Of 50 men polled, only 6 said they would like to see their wives give up their jobs, if it meant higher wages for themselves.

Some other people have suggested another way called "phased employment theory". The theory suggests that a woman worker take leave from her job when she is seven months pregnant and stay off the job until her baby reaches the age of 3. It suggests that women on leave receive75 percent of their normal salary and be allowed to return to work after the 3-year period. This will benefit children, women, their families and the society. Some of those polled, both women and men, felt the idea is a good one. It definitely seems to be more acceptable than the suggestion that women return to home forever.

1）、Some union officials have suggested that women should return home because ______.

A.all of them are employed in unsuitable types of work

B.their participation in work has a bad influence on the economic development

C.most skilled male workers are now unemployed

D.nowadays no one can take care of children except women 

答案：B

2）、Some union officials have suggested that if women resign their jobs, ______.

A.they should be allowed to attend school to be trained

B.their jobs should be taken over by the male members of their families

C.the male employees in their families should receive double wages

D.their children should also leave their kindergartens 

答案：C

3）、According to the passage, the suggestion that women should return to housework was ______.

A.opposed by most men and women

B.welcomed by men only

C.welcomed by women only

D.welcomed by men and women

答案：A

4）、According to the passage we can see “phased employment” means ______.

A.two or more women share the same job

B.women stay at home on weekdays and go to work on weekends or holidays

C.a woman should resign her job forever if she has a child

D.women are allowed to take leave from their jobs during their childbearing years 

答案：D

5）、Based on the “phased employment” theory, during a woman's leave from her job ______.

A.her work should be done by her husband or brothers

B.her family's income level will be a little lower than it normally is 

C.her family can still keep the same level of income

D.either her husband or her brothers will be given double wages

答案：B

3、A nineteenth-century French dramatist remarked that the only difference between animals and human beings is that people drink when they are not thirsty and make love in any season. The sociologist's definition of the difference is more scientific: only human beings have the ability for creating and transmitting culture. More than any other species, human animals are able to surpass their biological limitations by sharing ideas and passing on what they learn to future generations.

All animals, including human beings, have certain problems in common. In order to survive as species, they must find a home, get food and provide for their young. Animals are guided by instincts that enable them to cope with these problems of existence. Their responses to their environment is a fixed predictable manner: beavers build dams as homes, lions hunt for antelopes for food, and birds build nests to protect their young. Should these solutions turn out to be inadequate, animals for the most part will still go on making the same responses to the same problems. It is true that much of the behavior of higher animals is learned through direct experience. As everyone knows, dogs can be taught to overcome their instinctive dislike of cats, and parrots often learn new calls. In some cases animals have also been known to teach their offspring what they themselves have learned. Nevertheless, human beings are unique in their far greater ability to learn from experiences, to create new solutions to old problems, and most important, to use language to transmit what they have learned to future generations. While animal societies must rely on biologically inherited methods of dealing with their environment, human societies have the far greater advantage of a socially inherited culture.

1）、From a sociological point of view, the difference between humans and animals is ______.

A.humans drink when they are not thirsty
B.humans must find a home
C.humans can pass on their culture from generation to generation
D.humans know how to bring up their young
答案：C

2）、One of the problems that both humans and animals must face is ______.

A.they have to overcome their biological disadvantages
B.they have to raise their young in whatever living conditions
C.they must share ideas when in trouble
D.they must find new solutions to difficult problems
答案：B

3）、In face of problems of existence, animals ______.

A.can think and find a plausible solution
B.only respond repeatedly in the fixed way
C.can pass on the information to their young
D.young animals can think of better ways to solve them
答案：B

4）、Beavers can build dams as home ______.

A.because they can learn from each other
B.in an instinctive way
C.after many failures
D.after they follow other beavers' ways of building dams
答案：B

5）、Which of the following statements is true according to the passage?
A.Only humans can learn from experience.
B.Humans have much greater ability to solve problems with new methods.
C.Humans have more biological advantages than animals.
D.Humans and animals have nothing in common.
答案：B

4、During the meal, you'd better be careful not to leave a spoon in a soup bowl or coffee cup or any other dish. The coffee spoon ought to be on the saucer, the soup spoon ought to be on the plate under the bowl. When you are having soup, make the least noises and use the side of your spoon inside out this way, not the tip. And you mustn't pick up your soup bowls so as to drink away the last drops of your soup from the bottom of the bowl.

Very often there is only one main course and salad, followed by your sweet. If you find the meal not enough, say "Oh, it's delicious!" and ask for some more of the chicken or steak or whatever you have just had. The hostess will be very glad that you appreciate her cooking and will give you an extra portion. But if you observe the Chinese way of being polite and say "No, thank you" when the hostess offers you more, you will most probably starve later, because Americans will never press food on you. Yet it is not polite to keep silent and not to talk with the person next to you. It would be considered good manners if you handle your silverware with care so that they don't make any noise. When coffee comes, drink it from your cup. The coffee spoon should rest on the saucer while you are drinking. And smoking, of course, is rarely seen at a dinner table. Well, when the meal is finished, the guests put their napkins on the table and stand up, the men again helping the ladies with their chairs.

After the dinner, the guests usually stay for an hour or two, then they would say, "Well, I'm afraid I must be going now." The host and hostess would of course urge everyone to stay longer. "What, already? Won't you have another coffee?" The guests, for instance, would say, "I'd love to, but I have to be up early tomorrow morning. Thank you for a most enjoyable evening. Good-night."

And if you stay overnight or over the weekend, it will be courteousto send a thank-you note to the host or hostess the following day, very often with a small gift such as a box of chocolate or some flowers as a token of appreciation of their hospitality.

1）、Which of the following would be the best title of the passage?

A.How to Prepare for a Meal.

B.Never Press Food on Your Guest.

C.Table Manners in the U.S.A.

D.How to Enjoy a Dinner.

答案：C

2）、The passage suggests that ______.

A.to make the hostess happy you should ask for more food even if you are full

B.you should keep silent at a dinner table in order to be polite

C.if you want to be friendly with the person next to you, you should press food on him

D.talking is necessary at a dinner table

答案：D

3）、At a dinner table, you do all of the following except ______.

A.making the least noise possible

B.picking up your soup bowl to drink away the last drop

C.handling your silverware with care

D.drinking the coffee from your cup

答案：B

4）、What does "courteous" in the last paragraph mean?

A.Friendly

B.Generous

C.Polite

D.Noble

答案：C

5）、The passage implies that ______.

A.different nations have different customs

B.Chinese customs are quite similar to American ones

C.both Chinese and Americans have soup before the main course

D.if you are polite, the hostess will press more food on you

答案：A

5、In 1985, the Coca-cola company made the decision to change the formula of its leading soft drink. The change was based on the findings of many market studies. These studies had shown that the general response to the new product was good. However, the change of the traditional Coca-cola by New Coke was rejected by the majority of drinkers. In fact, the company had to step back and restart production of the old formula of Coca-cola.

The most important reason why New Coke was rejected was the emotional relationship that existed between drinkers and the old soft drink formula. Drinking Coca-cola had become a tradition for many people over its 99 years of existence. The change made by the company was not only in Coke’s formula but also in the traditional values and memories that it represented to the drinkers. “We had taken away more than the product Coca-cola. We had taken away a little part of them and their past.” The drinkers rejected this “improvement”, because “they believed that Coke stood for traditional value...so they felt betrayed when the product changed completely overnight”.

Although a lot of research was done by Coca-cola company, it didn’t show the depth of drinkers’emotion for the product. The studies took many forms, but none of the tests was able to measure the degree of personal and emotional reactions caused by the disappearance of the old, traditional Coca-cola. The weakness of the research was that it was mainly quantitative in form. The result was only numbers that could not show the deep meaning the product had for many people. A more extensive study focusing on the qualitative aspects of the change would perhaps have been able to demonstrate the close relationship existing between drinkers and product.

1）、Coca-cola company changed the formula in 1985 because __________.
A.it led the soft drink industry in the market
B.its market studies supported the change in the formula
C.it carried out market research for expansion
D.it simply felt the need to make the change
答案：B

2）、According to the passage, the drinkers rejected New Coke because of __________.
A.the late response to the market by Coca-cola company
B.the reproduction of Coca-cola’s old drink formula
C.a strong dislike by Coca-cola’s regular drinkers
D.the emotional relationship between the drinkers and the old soft drink
答案：D
3）、The product Coca-cola was believed to stand for __________.
A.traditional values and good memories
B.traditional customs and happy days
C.past honors and efficient management
D.top quality and wonderful taste
答案：A
4）、Which of the following statements is true?
A.Research by Coca-cola considered emotional factors.
B.Coca-cola did little research before they made the change.
C.Research by Coca-cola was quantitative rather than qualitative.
D.Research by Coca-cola was both quantitative and qualitative.
答案：C
5）、The author of the article clearly indicates that __________.
A.the weakness of the research could have been removed
B.Coca-cola should have measured the quantitative factors more carefully
C.Coca-cola should have done a more extensive qualitative study
D.A slower change of the product might have improved the sales of the company
答案：C
6、It's a modern problem: you're too busy to be disturbed by many phone calls so you turn your cell phone off. But if you don't remember to turn it back on when you're less busy, you could miss some important calls. If only the phone knew when it was wise to interrupt you, you wouldn't have to turn it off at all. Instead, it could let calls through when you are not too busy.

A bunch of behavior sensors and a clever piece of software could do just that, by analyzing your behavior to determine if it's a good time to interrupt you. If built into a phone, the system may decide you're too busy and ask the caller to leave a message or ring back later.

James Fogarty and Scott Hudson at carnegie Mellon University in Pennsylvania based their system on tiny microphones, cameras and touch sensors that reveal body language and activity. First they had to study different behaviors to find out which ones strongly predict whether your mind is interrupted. 

The potential "busyness" signals they focused on included whether the office doors were left open or closed, the time of day, if other people were with the person in question, how close they were to each other, and whether or not the computer was in use.

The sensors monitored these and many other factors while four subjects were at work. At random intervals，the subjects rated how interruptible they were on a scale ranging from "highly interruptible" to "highly not interruptible". Their ratings were then correlated with the various behaviors. "It is a shotgun approach：we used all the indicators we could think of and then let statistics find out which were important, " says Hudson.

The model showed that using the keyboard, and talking on a landline or to someone else in the office correlated most strongly with how interruptible the subjects judged themselves to be.

Interestingly, the computer was actually better than people at predicting when someone was too busy to be interrupted. The computer got it right 82 per cent of the time, humans 77 per cent. Fogarty speculates that this might be because people doing the interrupting are inevitably biased towards delivering their message, whereas computers don't care.

The first application for Hudson and Fogarty's system is likely to be in an instant messaging system, followed by office phones and cell phones. "There is no technological roadblock to it used in a couple of years," says Hudson.

1）、A big problem facing people today is that ______.

A.they must tolerate phone disturbances or miss important calls

B.they must turn off their phones to keep their homes quiet

C.they have to switch from a desktop phone to a cell phone

D.they are too busy to make phone calls or write e-mails

答案：A
2）、The behavior sensor and software system built in a phone ______.

A.could help store important messages

B.could send messages immediately

C.could tell when it's right to interrupt you

D.could refuse important phone calls

答案：C
3）、Scientists at Carnegie  Mellon University tried to find out ______.

A.why office doors were often 1eft open

B.when it was a good time to turn off the computer

C.what questions office workers were bothered with

D.which behaviors could tell whether a person was busy

答案：D
4）、During the experiment, the subjects were asked ______.

A.to control the sensors and the camera

B.to rate the degrees to which they could be interrupted

C.to compare their behaviors with one another's

D.to analyze all the indicators of interruption

答案：B
5）、The computer performed better than people in the study because ______.

A.the computer worked harder

B.the computer was not busy

C.people tended to be biased

D.people were not good at statistics

答案：C
7、Since World War II, there has been a clearly discernible trend, especially among the growing group of college students, toward early marriage. Many youths begin dating in the first stages of adolescence, “go steady”through high school, and marry before their formal education has been completed. However, emotional maturity is no respecter of birthdays; it does not arrive automatically at twenty-one or twenty-five. Some achieve it surprisingly early, while others never do, even in three-score years and ten (七十岁）.
Many students are marrying as an escape, not only from an unsatisfying home life, but also from their own personal problems of isolation and loneliness. And it can almost be put down as a dictum that any marriage seldom solves one’s problems, more often, it merely makes them worse. Furthermore, it is doubtful whether the home is an institution that is capable of carrying all that the young are seeking to put into it. Young people correctly understand that their parents are wrong in believing that “success”is the ultimate goal, but they erroneously believe that they themselves have found the true center of life’s meaning. Their expectations of marriage are essentially utopian and therefore incapable of fulfillment. They want too much, and disappointments are often bound to follow.

Shall we, then, join the chorus of “Miseries”over early marriage? One cannot generalize: all early marriages are not bad any more than all later ones are good. Satisfactory marriages are determined not by time, but by the emotional maturity of the partners. Therefore, each case must be judged on its own merits. If the early marriage is not an escape, if it is entered into with relatively few illusions or false expectations, and if it is economically feasible, why not? Good marriages can be made from sixteen to sixty, and so are bad ones.

1）、According to this article the trend toward early marriages __________.
A.was the result of the Great Depression of the 1930’s
B.could not be easily determined
C.is one that could be clearly seen
D.is a result of the emotional maturity of the young
答案：C
2）、The author suggests that many of today’s early marriages are a result of __________.
A.escapism
B.theological dictum
C.lack of formal education
D.convenience
答案：A
3）、More often than not, early marriage will __________.
A.not affect one’s problems
B.solve a person’s problems
C.intensify one’s problems
D.ease one’s problems
答案：C
4）、The author states that the home as an institution is __________.
A.overrated
B.unworthy of worship
C.a god who can grant everything that you wish for
D.probably not capable of being what many young people expect it to be
答案：D
5）、Many young people who marry early believe that __________.
A.their parents have found the true meaning of life
B.they have found the true center of life’s meaning
C.“success”is the ultimate goal
D.to succeed is not at all important

答案：B
8、It was once considered a good idea to keep the car engine running on idle for a minute or two following a cold start. Today, with modern technology, the opposite is true. An engine operating under road conditions will warm up faster and run more efficiently than the one that has been idling, as this just burns up gas (on average about a gallon an hour).

If possible, when you have a full tank of gas, park the car facing downhill, as this will prevent any gas from leaking out of the tank. Parking in areas of little or no sunlight helps prevent evaporation（蒸发） of the gas which would occur if you parked in the hot sun. Your car will stay cooler, too, and this means less gas is consumed for the air conditioner once the engine is started.

Stay away from wide-track tires if you want top mileage for your dollar. Narrow-track tires produce less friction and thus rolling resistance. The same effect is achieved by adding three to five pounds above recommended pressure to each tire while this won't noticeably affect your car's mobility, it will increase the life of your tires and gas mileage.

Check tire pressure often, especially when the weather turns cold. The difference between winter and summer tire pressure can be as much as eight pounds. This could cost you two miles per gallon.

1）、The main purpose of the passage is to tell us ______.

A.how expert drivers try to save gas

B.how to drive a car properly

C.how to make a car run smoothly

D.how to make your car consume less gas

答案：D
2）、According to the passage, keeping the engine run idly ______.

A.will just waste gas

B.will warm it up more quickly

C.will make it work more efficiently

D.is necessary in cold weather

答案：A
3）、Parking your car in a cool place ______.

A.will take it longer to warm up the engine

B.means less gas consumption for the air conditioner

C.prevent any gas from coming out of the tank

D.helps start your car more easily

答案：B
4）、Wide-track tires ______.

A.won't noticeably affect your car's sliding quality

B.can increase tire life

C.will increase rolling resistance

D.helps attain top gas mileage

答案：C
5）、Tire pressure changes ______.

A.when wide-track tires are used

B.when narrow-track tires are used

C.in different weather conditions

D.in different road conditions

答案：C
9、Growing older. These words used to strike fear in the hearts of old men and women, who imagined days spent in nursing homes and lack of control over their lives. Truthfully, there are few people who do feel comfortable with the thought of growing older. For most people, who experienced the height of their economic and political     power during their fifties, entering the " golden years" can be a disappointment.
But it may not be that way forever. Actually, society as a whole is now beginning to discover the bright side of old age. Even if a person is over 65, it doesn't mean he or she will suddenly become useless. Social workers stress the fact that the old people are the sum of their life experiences and do not suddenly change just because they have reached the age of 60 or 65.
Social workers have divided the elderly into two basic groups: young old---people aged 60 to 75; and old old---75 to 100. These groups have also been broken down into other categories. Of the two main groups, the young old are better off. They are more likely covered by a pension, and generally have good health. People aged 75 and older may not have the financial benefits this group is enjoying and are also more likely to develop diseases. They are sometimes called the weak elderly.
1）、According to the passage, old people used to ______.
A.be satisfied with their “golden years”
B.be in fear of a heart attack
C.like living in nursing homes
D.feel uneasy about growing old
答案：D
2）、The author agrees to the view that ______.
A.old people remain valuable to the society
B.people become useless when they reach the old age
C.social workers are mainly formed by old people
D.old people are in lack of control over their lives
答案：A
3）、According to the passage, why are the young old better off?
A.They still have their economic and political power.
B.They are experienced in making money.
C.They are the sum of their life experiences.
D.They have good health and pension.
答案：D
4）、According to the author, old people are ______.
A.more useful than young people
B.enjoying financial benefits
C.rich in experience
D.still very energetic
答案：C
5）、What is discussed in this passage?
A.The meaning of growing old.
B.Better life for the elderly.
C.Groups of the old people.
D.The bright side of old age.
答案：D
10、Kim was in danger of being fired from her job because she was such a perfectionist (完美主义者) that she'd try to cover up her mistakes or argue with her boss. What should she do to overcome her problem? 
The greatest and everlasting life changes often occur through team-based activities, like Weight Watchers or Alcoholics Anonymous, where there are groups of people encouraging and supporting you. They invested their time and efforts in your success, and you feel you should be responsible for them. The same principles can be applied in getting rid of the self-destructive habits. In other words, you should create your "dream team" for your personal growth. 
Your team should consist of five people at best, all of whom care for you and are totally honest to you. You'd better select people with various backgrounds, from your college-mates to your family. Not only will a diverse group give you different original solutions, they are more likely to offer you their networks and efforts to help you achieve the goal. Kim, for example, invited both a trusted colleague and her boss to join her team. 
The role you play is a listener to their criticisms, though it's not always easy. Kim argued with her team so much that her colleague finally said, "Look, if you're going to ask for my advice and always disagree with it, it's not worth my making the effort to give it." You can ask your team members to explain themselves clearly, but do not contradict (反驳) them, even if you feel a team member has made a terrible misjudgment. This is his "gift" to you. And if four out of five people are giving you the same gift, then they are more likely to point out something right. In a word, by reaching out to your team with generosity when asking for their counsels, you'll be rewarded with the key to your problem.
1）、What is the passage mainly about?
A.It compares the difference between work teams.
B.It analyzes people playing different roles in your life.
C.It instructs you how to cope with misjudgments.
D.It suggests you establish your team of advisors.
答案：D
2）、One's life changes greatly based on a team because ______.
A.you are supported and feel responsible
B.team members have the same shortcomings
C.they don't make any misjudgment on you
D.it is easiest to be influenced in team work
答案：A
3）、Your "dream team" targets on ______.
A.establishing your self-esteem
B.improving your personality
C.developing your work ability
D.making friends with strangers
答案：B
4）、You should select people with different backgrounds because ______.
A.everyone has a unique role in the team
B.they can be honest and critical to you
C.their help can be original and resourceful
D.members should learn from each other
答案：C
5）、When asking for advices with generosity, you may ______.
A.turn them down
B.solve your problems
C.make some mistakes
D.reward them with gifts
答案：B
11、A report consistently brought back by visitors to the US is how friendly, courteous and helpful most Americans were to them. To be fair, this observation is also frequently made of Canada and Canadians, and should best be considered North American. There are, of course, exceptions. Small-minded officials, rude waiters, and ill-mannered taxi drivers are hardly unknown in the US. Yet it is an observation made so frequently that it deserves comment. For a long period of time and in many parts of the country, a traveler was a welcome break in an otherwise dull existence. 

Dullness and loneliness were common problems of the families who generally lived distant from one another. Strangers and travelers were welcome sources of diversion, and brought news of the outside world. The harsh realities of the frontier also shaped this tradition of hospitality. 

Someone traveling alone, if hungry, injured, or ill, often had nowhere to turn except to the nearest cabin or settlement. It was not a matter of choice for the traveler or merely a charitable impulse on the part of the settlers. It reflected the harshness of daily life: if you didn’t take in the stranger and take care of him, there was no one else who would. And someday, remember, you might be in the same situation. Today there are many charitable organizations which specialize in helping the weary traveler. Yet, the old tradition of hospitality to strangers is still very strong in the US, especially in the smaller cities and towns away from the busy tourist trails. "I was just traveling through, got talking with this American, and pretty soon he invited me home for dinner - amazing." Such observations reported by visitors to the US are not uncommon, but are not always understood properly. 

The casual friendliness of many Americans should be interpreted neither as superficial nor as artificial, but as the result of a historically developed cultural tradition. As is true of any developed society, in America a complex set of cultural signals, assumptions, and conventions underlies all social interrelationships. And, of course, speaking a language does not necessarily mean that someone understands social and cultural patterns. Visitors who fail to "translate" cultural meanings properly often draw wrong conclusions. For example, when an American uses the word "friend", the cultural implications of the word may be quite different from those it has in the visitor’s language and culture. It takes more than a brief encounter on a bus to distinguish between courteous convention and individual interest. Yet, being friendly is a virtue that many Americans value highly and expect from both neighbors and strangers.

1）、In the eyes of visitors from the outside world, ___________.
A.rude taxi drivers are rarely seen in the US
B.small-minded officials deserve a serious comment
C.Canadians are not so friendly as their neighbors
D.most Americans are ready to offer help
答案：D
2）、It could be inferred from the last paragraph that ___________.
A.culture exercises an influence over social interrelationship
B.courteous convention and individual interest are interrelated
C.various virtues manifest themselves exclusively among friends
D.social interrelationships equal the complex set of cultural conventions
答案：A
3）、Families in frontier settlements used to entertain strangers ___________.
A.to improve their hard life
B.in view of their long-distance travel
C.to add some flavor to their own daily life
D.out of a charitable impulse
答案：C
4）、The tradition of hospitality to strangers ___________.
A.tends to be superficial and artificial
B.is generally well kept up in the United States
C.is always understood properly
D.has something to do with the busy tourist trails
答案：B
5）、What’s the author’s attitudes toward the American’s friendliness?
A.Favorable.
B.Unfavorable.
C.Indifferent.
D.Neutral.
答案：A
12、Have you ever known a married couple who just didn't seem suitable for each other - yet they are both happy in the marriage, and you don't know why? 
I know of such a couple. The man, Alexander, is strong and tall. He is a successful sales man, is active in charities, and plays golf every Saturday with friends. His wife, Christina, on the other hand, is small, quiet and a complete housewife. She doesn't even like to go out to dinner. But they are a textbook couple, who love and respect each other.
What mysterious force drives us into the arms of one person, while pushing us away from another who may be equally charming? According to John Money, professor of medical psychology at Johns Hopkins University, one of the most important factors is our "love map" - a group of messages encoded in our brains that describes our likes and dislikes. It shows our preferences in hair, eye color, voice, smell and body shape. It also shows the kind of personality we are fond of, whether it's warm, friendly, strong or silent.
In short, we fall in love with those people who most clearly fit our love map. And this love map is largely drawn in childhood. When we're kids, parents are the center of our attention, and we are the center of theirs. So parents' characteristics leave an important impression and we are somewhat attracted to people with their facial features, body types, personality and even sense of humor. 
The mother has an additional influence on her sons: she not only gives them clues to what they will find attractive in a partner, but also affects how they feel about women in general. Just as mothers influence their sons' general feelings toward women, fathers influence their daughters' general feelings about men. If a father, for example, praise his daughter and shows that she is a worthwhile person, she'll feel very good about herself in relation to men.
1）、The best title for this passage is ______.
A.Solving Problems for Unsuitable Couples
B.Love Map and its Effects on Our Marriage
C.How Parents' Personalities Affect Children
D.The Love Story of Alexander and Christina
答案：B
2）、The second paragraph is to ______.
A.give an example of seemingly unfit couples
B.teach new couples how to respect each other
C.explain the force that makes us charming
D.disagree with the opinion of the "love map"
答案：A
3）、The "love map" is a group of messages describing our ______.
A.intelligence quality
B.knowledge and art
C.likes and dislikes
D.mental health
答案：C
4）、We formed our "love map" mostly when we are ______.
A.children
B.teenagers
C.married
D.old
答案：A
5）、Mothers can influence their sons' preferences in these aspects EXCEPT ______.
A.facial features
B.body types
C.general impression
D.work abilities
答案：D
13、“You’re trying to control my life,” says my nine-year-old son. “I don’t know why you think you can do that, but you can’t.” I received this bit of information after I asked Gabriele to put his dirty socks in the basket. And I get no sympathy from my mother, who says,“You let him have his way from the beginning.”

It’s true. I have always asked Gabriele’s opinion, found out how he felt about things - treated him as my peer, not my child. And what have I got from my troubles? A lot of back talk. At least I’m not alone; it’s a complaint heard among parents across the country.

It’s not just that we’re confused by the contradictory advice offered in parenting books. The fact is, in an effort to break away from how we were raised - to try something more liberal than our parents’ “do it because I say so”approach - our generationhas gone too far. “Today’s parents want to be young, so they try to be friends with their children,”says Kathy Lynn, a parenting educator.

“When it comes to discipline, our society has gone from one extreme to the other,”says Ron Moorish, a behavior specialist. “We used to use the strap, to intimidate. Then we had permissiveness, and now it’s about giving children choices and allowing them to learn from their own experiences.”

Real discipline, says Moorish, is about teaching. “By correcting our children when they do something wrong, we teach them how to behave properly,”he says. But this only works, he emphasizes, if parents regain their position of authority. Children will always be children. The key is for parents to choose to take the time to guide and teach their kids.

Rita Munday, a mother of four children, couldn’t believe the dramas that played out in the children’s shoe store she operated. She often saw children insist on having the high-priced, brand-name shoes. And even when the mother didn’t want to spend the money, she would give in when the kid started acting up and throwing shoes around.

Rhonda Radice, Munday’s younger colleague, is one parent who has bucked the trend and is proud of it. “I don’t negotiate with them. You can’t. I’ve seen parents come into the store and bribe their children to behave. You shouldn’t have to buy love and respect.”

1）、The author’s way of treating her son ____________.
A.is shared by many parents
B.is encouraged by her mother
C.proves to be quite successful
D.shows little concern for the child
答案：A
2）、It can be inferred from the passage that __________.
A.parents should learn to make friends with their children
B.parents need to follow the advice of parenting books
C.today’s children enjoy more freedom than the previous generation
D.today’s parents are better at raising children than the previous generation
答案：C
3）、According to the passage, to have “discipline”means that parents should ___________.
A.adopt the “do it because I say so”approach
B.teach their children to understand the rules
C.negotiate with their children for a decision
D.never allow their children to have their ways
答案：B
4）、If Ronda Radice is the parent who has “bucked the trend”, which of the following can also be cited as the example for “bucking the trend”?
A.Parents buy whatever their children want.
B.Parents treat their children as their equals.
C.Parents make decisions for their children.
D.Parents maintain authority over their children.
答案：D
5）、The main point of the passage is to __________.
A.compare different ways of raising children
B.analyze the problems faced by today’s parents
C.explain the importance of understanding children
D.point out the mistakes made by the older generation
答案：B
14、Many teachers believe that the responsibility for learning lies with students. If a long reading assignment is given, instructors expect students to be familiar with the information in the reading even if they do not discuss it in class or give an examination. (Courses are not designed merely for students to pass exams.) The ideal student is considered to be one who is encouraged to learn for the purpose of learning, not the one interested only in getting high grades. Some students may be frustrated with teachers who do not believe it is necessary to grade every assignment. Sometimes homework is returned with short written comments but without a grade. Even if a grade is not given, students should learn the material assigned.

When research assigned, the professor expects students to begin and to complete the assignment with minimum instruction. It is the student's responsibility to find books and articles in the library. Professors do not have the time to explain how a university library works; they expect students, especially graduate students, to be able to find what they need in the library.

Professors will help students who need it, but prefer that their students not depend on them too much. This is different from teacher-student relationships in other countries. In the United States, professors have other duties in addition to teaching. Often they do some administrative work within their departments. In addition, they may be required to write articles and books. Therefore, the time that a professor can spend with a student outside of class is limited. If a student has problems with classroom work, the student should either ask a professor for help during office hours or make an appointment.

1）、What does the author mean by saying that “Courses are not designed merely for students to pass exams”(paragraph 1)?

A.Students study hard only for exams.

B.Teachers think it necessary for their students to fail exams.

C.Teachers think that the only purpose of studying hard is to pass exams.

D.The purpose of designing courses is not only for passing exams

答案：D
2）、According to Paragraph 2, students in the United States should ______.
A.depend more on themselves than on professors

B.plan their time and sequence their work

C.always follow the professors' advice

D.find a suitable place for studying

答案：A
3）、If students need the advice from their teachers, they should ______.

A.put forward their questions in class

B.go to their teachers' office

C.find some excuses to see teachers at home

D.turn to their teachers during the break

答案：B
4）、Students who ______ in the United States are considered good ones.

A.pay more attention to good scores

B.have the desire to learn by themselves

C.are good at learning words by heart

D.know much about computers

答案：B
5）、American professors may be required to spend part of their time ______ other than teaching.

A.knowing what is on their students' mind

B.helping students finish their assignments

C.doing research work

D.instructing students' research

答案：C
15、In America, during the meal, you'd better be careful not to leave a spoon in a soup bowl or coffee cup or any other dish. The coffee spoon ought to be on the saucer, the soup spoon ought to be on the plate under the bowl. When you are having soup, make the least noises and use the side of your spoon inside out this way, not the tip. And you mustn't pick up your soup bowls so as to drink away the last drops of your soup from the bottom of the bowl.

Very often there is only one main course and salad, followed by your sweet. If you find the meal not enough, say "Oh, it's delicious!" and ask for some more of the chicken or steak or whatever you have just had. The hostess will be very glad that you appreciate her cooking and will give you an extra portion. But if you observe the Chinese way of being polite and say "No, thank you" when the hostess offers you more, you will most probably starve later, because Americans will never press food on you. Yet it is not polite to keep silent and not to talk with the person next to you. It would be considered good manners if you handle your silverware with care so that they don't make any noise. When coffee comes, drink it from your cup. The coffee spoon should rest on the saucer while you are drinking. And smoking, of course, is rarely seen at a dinner table. Well, when the meal is finished, the guests put their napkins on the table and stand up, the men again helping the ladies with their chairs.

After the dinner, the guests usually stay for an hour or two, then they would say, "Well, I'm afraid I must be going now." The host and hostess would of course urge everyone to stay longer. "What, already? Won't you have another coffee?" The guests, for instance, would say, "I'd love to, but I have to be up early tomorrow morning. Thank you for a most enjoyable evening. Good-night."

And if you stay overnight or over the weekend, it will be courteous to send a thank-you note to the host or hostess the following day, very often with a small gift such as a box of chocolate or some flowers as a token of appreciation of their hospitality.

1）、Which of the following would be the best title of the passage?
A.How to Prepare for a Meal.
B.Never Press Food on Your Guest.
C.Table Manners in the U.S.A.
D.How to Enjoy a Dinner.
答案：C
2）、The passage suggests that ______.
A.to make the hostess happy you should ask for more food even if you are full
B.you should keep silent at a dinner table in order to be polite
C.if you want to be friendly with the person next to you, you should press food on him
D.talking is necessary at a dinner table
答案：D
3）、At a dinner table, you do all of the following except ______.
A.making the least noise possible
B.picking up your soup bowl to drink away the last drop
C.handling your silverware with care
D.drinking the coffee from your cup
答案：B
4）、What does "courteous" in the last paragraph mean?
A.Friendly.
B.Generous.
C.Polite.
D.Noble.
答案：C
5）、The passage implies that ______.
A.different nations have different customs
B.Chinese customs are quite similar to American ones
C.both Chinese and Americans have soup before the main course
D.if you are polite, the hostess will press more food on you
答案：A
16、What makes one person more intelligent than another? What makes one person a genius, like the brilliant Albert Einstein, and another person a fool? Are people born intelligent or stupid, or is intelligence the result of where and how you live? These are very old questions and the answers to them are still not clear.

We know, however, that just being born with a good mind is not enough. In some ways, the mind is like a leg or an arm muscle. It needs exercise. Mental (done with the mind) exercise is particularly important for young children. Many child psychologists think that parents should play with their children more often, and give them problems to think about. The children are then more likely to grow up bright and intelligent. If, on the other hand, children are left alone a great deal with nothing to do, they are more likely to become dull and unintelligent.

Parents should also be careful what they say to young children. According to some psychologists, if parents are always telling a child that he or she is a fool or an idiot, then the child is more likely to keep doing silly and foolish things. So it is probably better for parents to say very positive things to their children, such as "That was a very clever thing you did" or "You are such a smart child".

1）、The questions in the first paragraph are raised to _____.
A.introduce the topic of what makes a clever mind
B.compare Albert Einstein with ordinary people
C.summarise the characters of an intelligent person
D.prove that there are no answers to these questions
答案：A
2）、According to the context we can guess that a genius is ______ while an idiot is ______.
A.a normal person...a funny person
B.a strong person...a weak person
C.a highly intelligent person...a foolish or weak-minded person
D.a famous person...an ordinary person
答案：C
3）、A person ______ is more likely to become a genius.
A.whose parents are clever
B.who often thinks about difficult problems
C.who is often helped by his parents and teachers
D.who is born with a good brain and putting it to active use
答案：D
4）、It is better for parents ______.
A.to praise and encourage their children more often
B.to be hard on their children
C.to leave their children alone with nothing to do
D.to give their children as much help as possible
答案：A
5）、Which of the following is NOT true according to the article?
A.Parents play an important part in their children's growth.
B.The less you use your mind the duller you may become.
C.Intelligence is obviously the result of where and how you live.
D.Parents should always encourage their children.
答案：C
17、Remember global warming? Back in December, the threat of climate change was thundering and the rich countries agreed to cut their carbon-dioxide and other green-house-related emissions. Since then, interest has cooled markedly, and many European countries are already running away from the promises they made so loudly a few months ago. But there has been much talk, and a bit of action, to encourage renewable energies such as wind, hydro, solar and all living organisms. These emit no greenhouse gases, but tend to cost more than coal, oil or gas.

The better, simpler idea is to remember that the easiest way to reduce something is to tax it - in this case, by taxing the carbon content power. The dirtier the power, the more tax it would pay. So dirty coal would be more expensive than clean coal, which would see its price rise in relation to oil, which would be more expensive compared with gas, which would lose some of its price advantage over renewables.

Unless a carbon tax was so huge as to be economically crippling, it would not remove the price differential between all renewables and fossil fuels. But it would narrow that gap, by fixing the differing environmental costs into the price - a useful principle in itself. It would also give renewable producers a strong incentive to cut costs, and fossil-fuel suppliers the motivation to clean their products.

Precedents suggest strongly that a carbon tax would be effective. But the disadvantage to carbon tax is political. After almost a decade of trying, the European Union gave up an attempt at a European carbon tax last year. Germany’s ruling coalition is fighting against a proposed energy tax. In America, politicians believe that even mentioning the notion is certain death. But many of the political objections could be met if a carbon tax were made up for the loss elsewhere, for example by lowering payroll or sales taxes. There is always suspicion when governments come up with clever new ways to tax, and rightly so. The response to that suspicion should be to win the argument, not to abandon it.

1）、According to the passage, the easiest way to remove global warming is ___________.
A.to encourage people to use renewable energies
B.to cut down the cost of wind, hydro, solar and all living organisms
C.to force people to pay more tax for the carbon content of power
D.to talk less but act more
答案：C
2）、The standard of paying tax was _________.
A.that the more carbon content of power it contained, the higher tax one would pay
B.that oil would be more expensive than clean coal
C.that renewables would be most expensive of all
D.in the order that renewables are the most expensive while clean coal the cheapest
答案：A
3）、We can infer from the passage that carbon tax ___________.
A.may not be as effective as people expect
B.has encouraged renewable producers to cut costs
C.has reduced consumption of the carbon content energy successfully
D.couldn’t be that effective if fossil fuels would not be forbidden
答案：A
4）、The word “crippling”(Para. 3) most probably means _________.
A.greatly increasing
B.seriously weakening
C.sharply declining
D.abruptly halting
答案：B

5）、The reason why many countries stopped introducing carbon tax eventually was mainly that ___________.
A.governments had tried to put it into effect for many years but with no obvious result
B.if one country made up the loss by paying the carbon tax, other countries would follow it
C.governments were afraid of being suspected if they adopted the new tax
D.governments had been discussing what to do with carbon tax for a long time, but they hadn’t come to an agreement
答案：C
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